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def addInt(a: Int, b: Int): Int ={
var total: Int =a +b
return total
}
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def addInt(a: Int, b: Int) ={
a +b
}
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def addInt(a: Int, b: Int) =a +b
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def retrunNone(a: Int,b: Int): Unit ={
print(a +b)
}
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def retrunNone(a: Int,b: Int) {
a+b
}

scala>retrunNone (1, 2) / /AT R A R T {E
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scala>: paste

// Entering paste mode (ctrl-D to finish)

def reorderArray(arr: Array[Int]) : Array[Int]:{
val t =arr.toBuffer



for(i <-1until (t.length,2);tmp =t(i);j =1 -1) {

t(i) =t(J)
t(3) =tmp
}
t.toArray

println(reorderArray(Array(l,2,3,4,5)) .mkString(", "))
// Exiting paste mode, now interpreting
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scala>: paste

// Entering paste mode (ctrl-D to finish)

val a =Array(1,3,-3,-5,-7,3,2)

def reorderArray(arr: Array[Int]) =
val b =arr.filter(_ >0)
val c =arr.filter(_ <=0)
val newarr =b ++c
print(newarr.toBuffer.toString())

}
reorderArray(a)
// Exiting paste mode, now interpreting
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ArrayBuffer(l, 3, 3, 2, -3, -5, =-7)
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scala>def largest(fun: (Int)=>Int, inputs: Seq[lnt]) =inputs.map(fun( )) .max
largest: (fun: Int =>Int, inputs: Seq[Int])Int

scala>println(largest(x =>10 * x -x ¥ x, 1 to 10))
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scala>def fl(a: Int,b: Int)={a+b} / /75 B — > 35 o 4K
f1l: (a: Int, b: Int) Int
scala> (a: Int,b: Int)=>a+b / /75 BT — A B 44 PR AR

resld: (Int, Int) =>Int =$S$Lambda$858/371976262@503358¢e6
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scala> ((a: Int,b: Int)=>a+b) (1, 2) / /75 B B 4 pR B 78

resl5: Int =3

scala>val f2=(a: Int,b: Int)=>a+b /IR T — A4 R, TR E A — AR
£f2: (Int, Int) =>Int =$$Lambda$861/1399992133@ 6c8f2ede

scala>f2(1,2) / /5 [ 45 R

resl6: Int =3
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scala>: paste
// Entering paste mode (ctrl-D to finish)
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val £3=(x: Int)=>{
println("Who")
println("am")
println("I")
x+100

}

// Exiting paste mode, now interpreting
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scala>val y=£3(1)
Who

am

I

y: Int =101
scala>y

res3: Int =101
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scala>val f4=(x: Int)=>{println("Who") ;println("am");println("I");x+100}
f4: Int =>Int =$$Lambda$802/1847252568@486dd616

scala>val w=£f4(10)

Who

am

I

w: Int =110

scala>print (w)

110
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scala>def £3(a: Int,b: Int,f: (Int,Int)=>Int)={f(a,b)} //5E X —> 5 B bR %L



£3: (a: Int, b: Int, £: (Int, Int) =>Int) Int

scala>f3(2,3, (a: Int,b: Int)=>{a*b}) // V8 FH 5 B oA
resl7: Int =6
scala>f3(2,3, (a: Int,b: Int)=>{a+b}) / /8 JH 75 B eR B

resl8: Int =5
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scala>val a =Array(1,3,5,7,9,10)

a: Array[ Int] =Array(1l, 3, 5, 7, 9, 10)

scala>a.filter( >)5)
res5: Array[lnt] =Array(7, 9, 10)
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scala>a.filter (x=>x>5)
res6: Array[lnt] =Array(7, 9, 10)
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